F314 Linear Algebra: Quiz 2 September 8, 2017
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1. Consider the vector u = (1,1,1). Find two nonzero vectors v and w that are perpendicular
to u and are perpendicular to each other.
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2. Again, u = (1,1,1). Suppose z is another vector and ||z|| =
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1. What is the maximum possible value of u - z? ZB (CM%“QCLL“CWZ'>

2. What is the minmum possible value of u-z? - P J' S ( ‘1 f ﬂds

3. What is the maximum possible value of |ju +z||? 2 + Jé C‘(‘/‘l%{) [E, i a?w

4. Give an example of a vector z with ||z|| = 2 such that |Ju + z|| attains its maximum

possible value. Z
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